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43. OO ERE LA R, 7T 72T,
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f@):£&<x+1+x+(1+@2+””*u+xw>

44. (1) KEITIZENT f(z) b g(z) ks 35, AEE 2 ITKL T f(z) = g(z) ALY 3L
DL & [ EDFTRTOETICKHL TS f(z) = glo) B ST & 2R,

2) fA. FTRTD o,y € RIZKHL flo+y) = f2) + fly) B Loz X,
f@) = f(U)z (x € R) L7 BZ &Rt

W (2) T fBESETRVES. flz+y) = f(2) + fy) BRI LI f(z) = fQ)z &z
SRV f BT E B,

45. WD%EXZERE,

o1 .2 ™ 1 1
(1) arcsin —= + arcsin — = B (2) 2arctan 3 + arctan - =

V5 V5 T4

46. (1) RO~ by (1) % (1) ~, (1) % <1> ~ETITH A &R X,
1 1 1 0

(2) R? ETHRI M a/3 T EEDELVIZEREL , IRWTHEB y = 2 12 TR
DBEIZ BT, Z OEBEPITHITEYE,

(3) R? LTI M /AT RADEDLDIZEHAL . IO TEMR y = 20 IZBIL THFR
DEIZ BT, Z OEBEPITHITEYE,

1 2 0 1 3 1
4) RoOXIZEv (ol Z 1]~ [1][Z]|=1]~ |=2|%|2| ~BT115I%K
0 1 0 0 1 3

47.  (m,n) 118 AL ADHB%E Im(A) = {Ax |z € K"} T, ADE% Ker(4) = {x €
K" | Ax = 0} TE®D B, WOITHIADKERERD L, 727FL. K =R & LTRIE
J:l/\o
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